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1. Insert <, > or = to make each of the
following statements true.

a. 2[ Jos
boas[ Jas
c. 00909 [ ] 0-9009 - .

d 12x3+9] |36
2. Complete, using index notation:

a. 9x9x9=ok
b 3¥+35=3]
c. 2x25=2L1"
d. 5x5><4><5><5 4O SA\
e. 3°=30 ~
3. Simplify, leavmg your answers in index
form:
a. 8" x8=_|
b. 2x§23 x22¥
.. 10:5<10x10 ><'10 _
C10°
d. 5%
\ 6%
c. ? =
4. Evaluate
a. 16+ % =
b. 21 x4 =
c. 9x(12-3%=
d. 3*=

e. Y64 =

5. Evaluate, correct to 2 decimal places:
a. 2:8*— (12 x 34 + (54 +3:2 x 0-234%) =

_5-6 =
7-08+34-7x2-01
6. Convert 357 minutes into hours ang minutes.

-C.

7. Write 12 6708 hours correct to the nearest:

a. second

b. minute ; o
8. Find 8 h 2 min 4SS -3 h 57 min 548 %
9. A phone operator answers 231 callson - -

Monday, 56 calls on Tuesday, 149 calls on
Wednesday and a total of 987 for the week.

a. How many calls were made on Thursdzp;
and Friday? _ _ ’ -

b. If each phone call lasted 156 seconds
how long did the operator spend on tb{e
phone on Thursday and Frlday‘7

ﬁl A frog named Bertha jumps 4 metres on
her first jump, 2 m on her second, 1 metre

on her third jump, and continues to jump %

the distance of the previous jump each
time. Use your calculator to find the
distance that Bertha is trying to cover.

11. A company decides to share its $8-04
million dollar profit equally between its
1567 employees. How much does each
employee receive, correct to the nearest
dollar? ' : '_

12. "’"The—sduare root of a whole number lies
between 8:6 and 8-7. What could the
number be? . ]

13. Give 3 decimals that, when rounded to 3
decimal places, become 0-982.
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14. B_ryce had a bag of 135 marbles. He gave ) WoORKING SERCE
%— of the to his brother and divided the rest [

between himself and two friends. How
many of the marbles did Bryce retain?

=,

. . -a:n_ 4 . ?

15. Find two numbers that have a product of
32-64 and a sum of 18-32. '
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1. Express as a percentage: 7. Decrease $40 by 6% and then increase ’g?é '
a 06 ' result by 6%.
b. L ,/ -
2= 8. A fruitshop owner buys a box of 24 mangoes
(
c. 2 | for $9. At what price should he sell each
4 mango if he wishes to make a 30% profit?
d 1 | ' )
3L
e. 0-125 \ 9. A shop offers a discount of 20% off the cost
2. Answer each of the following as either true ;fizlegtﬁi s:;lcz)zssworlth $89.95. Flr;d/th(sale
(T) or false (F). : -
0 3 -
a. 70%> 4 10. In May, a pie cost $1.80 at the school

b, =2 = 1-5% ‘ ~ canteen. On 1 June, the price of a pie went

" 200 | —— up to $2.40. Calculate the percentage
c. 0:05= 516 { increase in the price of a pie.
{
\
d. % <40% 11. a. Carly earns 3% commission on the
é_ x% of y = y% of x value of all sales. Find her commission
. . for a week in which her sales total $54
3. Write the following in ascending order: 680. /O

1 . loy, 3
e 4 23% 5

I b. What would her sales need to be in
order for her commission to be over
$750 for any given week?

: ' : 1 1
4. Give a percentage that lies between 4 and <

5. Find: 12. Michael earns $500 per week plus 1%%
a. 12% of 4000 m = ..
b, 3% of $§60 o commission on the value of sales over
- 2700 B $100 000. How much does Michael earn in
. 6%4- % of 8:9 kg = a week in which his sales total $150 0007
d. 101% of 5SmL = . ' . —
1o 13. Calculate the simple interest earned on
e. 75 % of $9.46 = $7000 invested at 6%’ % p.a. for:
6. a. Increase $25 by 10;% = a. 4years -
b. Decrease $48 by 5% = b. 30 months ]
c. Increase $107 by 12-;-% = 14. What is the flat interest raf'g needed for

£

Increase $3 by 250% = $5000 to double in]0 years? .
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15. If 12% of x =y, what is the value of:
a. x% of12? ,,
b. 24%ofx? =

c. 150% ofx?

16. A car is sold for a profit of 20%. If the car
was sold for $30 000, how much profit was
made on the car?

WORKING SPRCE.
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1. Insert <, > or = to make each of the
following statements true.

1@0-5/
b. 45.48/
c. 0090909(9/

d 12x3+9[<L]36
2. Complete, usmg index notation:
a. 9x9x9=

b. 3% 35—3-

c. 2x2= 2[51/ / )
d. 5x5x4x5>§é 4®

e. 3F=34

3. Simplify, leaving your ariswers in index

form:
a. 87><:83 %\o//
b. 2xPx2P=_2° /

o/

. 1o§<10><510><10= Ao
10 )

=8

d 6»=_5 /

\ L YA
| e.%= 7%@

6?
4. Evaluate: /
a. 16+ %— = 7 - ‘
b. 2L x4d = A «

c. 9x(12-3)= ’\995
a3t=_ 7
e. ¥ 64 = —-’L’\ /

5. Evaluate, correct to 2 decimal places:
a 2.8 —(12x34+(54

. . 5-6
J7-08+34-7x2-01
6. Convert 357 minutes into hours minutes.
9 houve and 5 Toninukes
7. Write 12-6708 hours correct to the nearest:
a. second | Zin boome b5 s
(2 o
. Fmd8h2mm4is—3h57mm 54 5.03hvs Tohms
9. A phone operator answers 551 callson =} 8¢
Monday, 56 calls on’Tuesday, 149 calls on
Wednesday and a total of 987 for the week.
a. How many calls were made on Thursdz
and Friday? S S\ cals
b. If each phone call lasted 156 seconds,
how long did the operator spend oxy;{e

= 10.04

b. minute

phone on Thursday and Friday?

9 2ws 52mins Shsecd

@ A frog named Bertha jumps 4 metres on

her first jump, 2 m on her second, 1 metre
on her third jump, and continues to jump %

the distance of the previous jump each
time. Use your calculator to find the
distance that Bertha is trying to cover.

1-¢19

11. A company decides to share its $8-04
million dollar profit equally between its
1567 employees. How much does each [
employee receive, correct to the neare
dollar? __ <} 5 \265)D

12 "F"Ifesauare root of a whole number lies

between 8-6 and &-7. What coul the
number be? il

13. Give 3 decixnéls that, when rounded to 3
decimal places, become 0-982.

2124

2% 0234 = 0. qgl\/ 61
b. 152 %Qv\L‘ ‘ l O C\‘%\O\q“//
24 17 j\? 0O.A32H
- 2.8%- (\1x3yz S 5%‘) R 17
=9 g""N ( 4o Sg . :,\g\v\\“(\s .%’.
I Vit VT o]
Srgtaste s Slwes . BT T gy

Z%hwxs g;wm \;t/[ 732 rmx'\S ?7(9‘“‘»
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f’-am_l

14. Bryce had a bag of 135 marbles. He gave

% of the to his brother and divided the rest

between himself and two friends. How
many of the marbles did Bryce retain ‘/

. Worik NG SEACE |

15.

[L/‘ \'\’\a\c\f_’)\‘a S

Find two numbers that have a product of

32-64 and a sum of18-32./
\ {3. 32 ) Vi \

'w@g/‘
) ._2_"_,%[55; -

5
of 136 5% =&

———

\;m%z

3 135 = §]

pom—.

glL3 =27
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1. Expressasa percentagc

a. 06 b [

(T) or false (F).
a. 70%> 2 T \/

b.‘2—0—0—15%
coos—-— fj\/\E
d2<40% E ()

e. x% ofy=y%ofx_ 1 v

%1 40%, 1-4, 12l%, %
24 36

b. % 504. /
.3 151 7
1 LD, Ky Wwsf wWege
d 3 _ 3375570 33‘@/ of,
e. 0-125__\2-5 . 33 3 l

2. Answer each of the following as either true

2/

3. Write the following in ascending order:

I

\o "‘Ol | B

227

4

4. Give apercentage that lies be een L and % .

5. Find:
a. 12% of 4000 m =

490 «

b. 3%0f$560=_Slb-

<o <

c. 61 5 %o of 89 kg= O?SG‘M, <

d. 101%of 5mL=_5.

Db

o

7%% of$9.46=_ 7[¢&

Increase $25 by 10% =
. Decrease $48 by 5% =

o p

o

d. Increase $3 by 250% =

. Increase $107 by 123% =

321:50
t5.b )
&\m.ffs/'

(0.5 Z ‘

7.

10.

12.

13.

14.

Decrease $40 by 6% and then increase the-
result by 6%.

24-3b

. A fruitshop owner buys a box of 24 mangoes

for $9. At what price should he sell each W1
mango if he wishes to make a 30% profit?

seeE 4%, Sod Cats

. A shop offersa discount of 20% off the cost

of a pair of shoes worth $89.95. Find the sale
price of the shoes. ¢

€196
In May, a pie cost $1.80 at the school
canteen. On 1 June, the price of a pie went
up to $2.40. Calculate the percentage
increase in the price of apie. _ / /

. a.. Carly earns 3% commission on the

value of all sales. Find her commission

for a week in which her sales total $54
630. /
$ lbaos

b. What would her sales need to be in
order for her commission to be over
$750 for any given week?

F 2<ooe
Michael earns $500 per week plus 1 %%

commission on the value of sales over
$100 000. How much does Michael earn in
a week in which his sales total $150 000?

| LD .
Calculate the simple interest earned on
$7000 invested at 6 -11 % p.a. for:

a. 4years INso
b. 30 months [o93-1%
‘What is the flat interest rate needed for
$5000 to double in 10 years?
(& /. ﬁ\

g

v
~
~D

g

a. x%of12?

b. 24% of x? YA,

o 150% of x? v R
16. A car is sold for a profit of 20%. If the car

was sold for $30 000, how much profit was
made on the car?

15. If 12% of x =y, what is the%?ue of:

z

Jg)j‘o &0

WoRKING SPacE.
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